


Question 1-
4

9
× 3402 + 

4

11
× 1386 

= ?

A.6102

B.2106

C.2206

D.3306

E.None of 

these

https://t.me/Mathbytar

unsir



Question 2- 52 + 132 – 112 + 320 = 

(?)3 – 52 + 16×20

A.5

B.7

C.8

D.2

E.None of 

these

https://t.me/Mathbytar

unsir



Question 3- 20% of 45 ×50% of 

20 ×? = 1008

प्रश्न 3- 45 का 20% ×20 × का 50%? 

= 1008
A.12.2

B.11.2

C.13.2

D.14.2

E.None of 

these

https://t.me/Mathbytar

unsir



Question 4- 75% of 7500 + 2144÷4 = ? 

– 30% of 150

प्रश्न 4- 7500 का 75% + 2144÷4 = ? - 150 

का 30% A.2606

B.6026

C.6202

D.6206

E.None of 

these

https://t.me/Mathbytar

unsir



Question 5- 7744 + 45% of 1800 + 

666÷37 = ?

प्रश्न 5- √7744 + 1800 का 45% + 

666÷37 = ? A.1116

B.2116

C.619

D.196

E.None of these

https://t.me/Mathbytar

unsir



Question 6- 5376 ÷ 24 × 26 ÷2 –

700  = ?2 -3

A.47

B.127

C.37

D.57

E.None of 

these

https://t.me/Mathbytar

unsir



Question 7- 4532+3112+3416 

+2344 = ?
A.31404

B.13204

C.12404

D.31404

E.None of 

these

https://t.me/Mathbytar

unsir



Question 8- 64% of √409600 ÷ 1.6 = ? 

× 1.28 ×2

A.200

B.410

C.210

D.100

E.None of 

these

https://t.me/Mathbytar

unsir



Question 9- (2.89)6 ÷ (4913 ÷ 1000)3 ×

(0.17 × 10)5 = (1.7)?–6

A.12

B.14

C.16

D.7

E.None of 

these

https://t.me/Mathbytar

unsir



Question 10- 25% of 88 + 50% of 120 = 

?% of 4100

प्रश्न 10- 88 का 25% + 120 का 50% = 4100 

का ?%

a)1

b)2

c)3

d)4

https://t.me/Mathbytar

unsir



Question 11-
3
1728000 + 

3
2197000 +

7200

9
= ?

a)2150

b)1050

c)3150

d)1120

https://t.me/Mathbytar

unsir



Question 12- 53 × 47 + 12.5% of 832 + 20% of 35 × 17 = ?

प्रश्न 12- 53 × 47 + 832 का 12.5% + 35 × 17 का 20% = ?

a)6280

b)1280

c)2680

d)3380

e)None of 

these

https://t.me/Mathbytar

unsir



Question 13- Question 7- 11.11% of 7200 + 23.23% of 

18900 = ? 

प्रश्न 13- प्रश्न 7- 7200 का 11.11% + 18900 का 23.23% = ?

a)4400

b)5500

c)5400

d)6400

e)None of 

these

https://t.me/Mathbytar

unsir



Question 14- 14.28% of 5600 + 42.84% of 2800 + 

23.23% of 9900= ?

प्रश्न 14- 5600 का 14.28% + 2800 का 42.84% + 9900

का 23.23% = ?

a)4400

b)4300

c)5300

d)6300

e)None of these

https://t.me/Mathbytar

unsir



Question 15- 9.09% of 6600 + 36.36% of 8800 + 

45.45% of 4400 =?

प्रश्न 15- 6600 का 9.09% + 8800 का 36.36% + 4400 

का 45.45% =?
a)5800

b)4800

c)6800

d)8800

e)None of these

https://t.me/Mathbytar

unsir



Question16- 12.5% of 1600 + 62.5% of 4000 – 37.5% of 800 = 
?
प्रश्न 16- 1600 का 12.5% + 4000 का 62.5% – 800 का 37.5% = ?

a)3000

b)4000

c)5000

d)6000

e)None of these

https://t.me/Mathbytar

unsir



Question 17- {55 – (66 – 54 ÷ 9 

× 8)} = ?

a)73

b)10

c)19

d)37

e)None of these

https://t.me/Mathbytar

unsir



Question 18- 48 × 24 ÷ 2+ 24 = 
?

a)400

b)500

c)700

d)240

e)None of 

these

https://t.me/Mathbytar

unsir



Question 19- (720 + 96) ÷ 6 – 10 = ?

a)130

b)127

c)226

d)326

e)None of these

https://t.me/Mathbytar

unsir



Question 20- 96 ×94 + 102 × 108 –
24800÷8 = ?

a)19640

b)16490

c)16940

d)16440

e)None of these

https://t.me/Mathbytar

unsir



Question 21- 434 + 30 + 361 = X+20

a)31

b)41

c)51

d)21

e)None of these

https://t.me/Mathbytar

unsir



Question 22-
4

13
of 16900  +

5

17
of 1700 – 37.5% 

of 240 = ?

प्रश्न 22- 16900 का 4/13 +1700 का 5/17 – 240 का
37.5% = ?

https://t.me/Mathbytar

unsir



Question 23- 67×67 +2324 

– 1600 = ?

a)5231

b)5203

c)5213

d)4323

e)None of 

these

https://t.me/Mathbytar

unsir



Question 24- 80% of 2550 + 
(120+120+120)÷12

3+2+5÷5
= ?

a)2010

b)2040

c)2045

d)2020

e)None of 

these

https://t.me/Mathbytar

unsir






